52225 Hospitality Industry AccountingPRIVATE 

Final Examination Answer Sheet

Question 01:

From the underneath given information, answer the below questions about a hotel's balance sheet.

Cash on Hand




$ 18,500

Cash in Bank                          

   
   34,600

Marketable Securities                      

   20,300

Accounts Receivables                  
   
   45,600

Inventories                          

   
   38,700

Prepaid Expenses                      
     
     
     5,900

Land                                


 335,400

Building                       

         
          3,865,200

Furniture and Equipment                
 
 751,200

China & Silverware                  
   
   
   50,300

Organization Costs                  
 

 235,000

Security Deposits                    
   

   23,900

Allowances for Doubtful Accounts                         5,400

Acc. Depreciation (Building)                          
 789,400

Acc. Depreciation (Furniture & Equipment)
 554,600

Accounts Payable                     
   
   
   27,100

Accrued Salaries                       
     
     
     7,900

Income Tax Payable                  
   
   75,000

Current Portion of Long-term Loan

   58,900

Long-term Loan                    
         
          2,539,400

Common Stock                       

 
621,700

Retained Earnings                 
 

745,200

a) What are total current assets? 



$ 158,200
b) What is the total property and equipment? 

$ 3,658,100
c) What are the total assets? 




$ 4,075,200
d) What are total current liabilities? 



$ 168,900
e) What is total shareholder’s equity? 


$ 1,366,900

Question 02:

 For the Year ending December 31st, 92, Pancu Hotel balance sheet depicted the following figures:

 -------------------------------------------------------------------------------------------------------------------

CURRENT ASSETS                                          CURRENT LIABILITIES                 

 Cash on Hand             
          $ 35,000               Accounts Payable               $
60,000 

 Cash in Banks                          40,000               Accrued Expenses             
45,000

Accounts Receivables (Net)
50,400                Current Portion of Long 

Marketable Securities        
36,900                Term Loans  


45,000

Inventories                

32,500

--------------------------------------------------------------------------------------------------------------------

   Total Current Assets
         $ 194,800                   Total Current Liabilities $ 150,000     

· The Annual Net Revenue of the hotel for the year 2002 is $ 1,025,000.

· The Net Accounts Receivables account amounted on December 31st, 01 $ 30,000.

Under the above given information;

a) Analyse the related ratios and indicate if the company is capable of paying its short-term debts?

CALCULATION:

· Current Ratio = $ 194,800 / $ 150,000 = 1.30
· Quick Ratio = $ 162,300 / $ 150,000 = 1.08
COMMENT:

A Current ratio greater than 1 depicts the fact that Pancu Hotel is capable of paying its short-term debts. Furthermore, if we eliminate the most illiquid assets from the ratio (i.e.: Inventories), we still can get a ratio greater than 1 (1.08). Therefore, based on the two above calculated ratios and on the only data on hand, we can conclude that Pancu Hotel is able to pay back its short-term debts.

b) Pancu Hotel’s budgeted credit period is 20 days. Analyse the necessary ratios to find out whether the hotel complies with this collection policy? 

CALCULATION:

· Accounts Receivable Turnover Ratio = $ 1,025,000 / (($ 50,400 + $ 30,000) / 2) = 25.497512 times.

· Average Collection Period Ratio = 365 / 25.497512 = 14.32 days.

COMMENT:

Having recourse to the fact that Pancu Hotel’s credit period is 20 days, we can conclude that this company is in a favorable situation. In fact, the hotel can collect back its receivables in less number of days than the indicated, planned, desired or even budgeted figure of 20 days.

c) The last two years’ debt to equity ratios of Pancu Hotel is given below. What does this trend show as far as the company’s financial structure is concerned?

	Year
	2001
	2002

	Debt to Equity Ratio
	1.5
	2.0


COMMENT:

As far as Pancu Hotel’s financial structure is concerned, we can say that the company is on an increasing Debt to Equity Ratio trend. In fact, in 2001, for each $ 2.5 assets, $ 1.5 is financed through Debt and $ 1.0 through Equity (i.e.: the Capital Structure is 60 % Debt, 40 % Equity). In 2002, the composition has changed to 67 % Debt and 33 % Equity. Therefore, Pancu Hotel is more and more leveraged with Debt. This situation would lead to less Income Tax paid (since Interest is Tax deductible), however, this leads also to more and more Interest paid and hence the risk one day not to pay back!)

Question 03:

Calculate the dollar value of the cost of goods sold and ending inventory from the below given inventory transactions;     

a) Using weighted average method

b) Using last in first out method

	
	Unit
	Unit Cost

	Beginning Inventory
	10
	$ 0.25

	Purchases – December 5th, 02
	8
	$ 0.31

	Purchases – December 20th, 02
	6
	$ 0.41


· On December 6th, 02, the Storeroom issued 8 units to be sold.

· On December 25th, 02, the Storeroom issued 7 units to be sold.

Weighed Average Method:

Total Units on Hand = 10 + 8 + 6 = 24 Units.

Total Cost = (10 * $ 0.25) + (8 * $ 0.31) + (6 * $ 0.41) = $ 7.44.

Cost / Unit = $ 7.44 / 24 Units = $ 0.31 / Unit.

Cost of Goods Sold = 15 Units * $ 0.31 / Unit = $ 4.65.

Ending Inventory = 9 Units * $ 0.31 / Unit = $ 2.79.

LIFO Method:

On the month of December, we issued 15 Units, 6 of them with a cost of  $ 0.41, 8 of them with a cost of $ 0.31, and 1 unit with a cost of $ 0.25. Therefore:

Cost of Goods Sold = (6 * $ 0.41) + (8 * $ 0.31) + (1 * $ 0.25) = $ 5.19.

Ending Inventory = 9 Units * $ 0.25 = $ 2.25.

Question 04:

A Company signs a franchise agreement on Jan 1st, 2002 with a worldwide Chain Hotel to be valid for 10 years. The franchise fee is  $ 45,000 and is paid in cash on the day the agreement was signed.

a) Prepare the journal entry for payment as of January 1st, 2002








    Dr



     Cr

                         --------------------------------------------------------------------------------------------------





Franchise

$ 45,000






Cash





$ 45,000



--------------------------------------------------------------------------------------------------

b) Prepare the amortization journal as of December 31st, 2002








   Dr



   Cr

                         --------------------------------------------------------------------------------------------------



Amortization Expense (Franchise)
$ 4,500







Franchise



$ 4,500



--------------------------------------------------------------------------------------------------

c) What will be the balance of franchise on December 31st, 2002’s balance sheet? 

On December 31st, 02, the balance of the Franchise Account is $ 40,500 (i.e.: $ 45,000 – 1 * $4,500).

Question 05:

Answer briefly the following questions in the spaces allowed:

N.B: For each line exceeded, a 25% of the question weight would be subtracted as a penalty! 

a) Why should we prepare Income Statement before Balance Sheets?

Income Statement needs to be prepared before Balance Sheet because of two reasons:

· In order to close periodical Revenue and Expense items so that next periods Revenue & Expense Accounts start with a 0 balance!

· The Statement of Retained Earnings for which its Ending Balance shall be reported to the Balance Sheet ensures the closing of Revenue and Expense Items!

b) Why is the "Covenant Not To Compete" Intangible Asset not Tax Deductible?

The Intangible Asset " Covenant Not To Compete" is not Tax Deductible because it is really very hard to be sure whether its historical cost is the initial intangible asset's book value reported on the balance sheet or not. That's why, if such an item was tax deductible, company accountants might show a very large figure, in order to pay less income tax to the Tax Authorities.

c) Why corporations, sometimes, step in the stock market to repurchase its already issued stocks?

Corporations, sometimes, step in the stock market to repurchase its already issued stocks for three reasons:

· To reduce, and or eliminate possible outside control over the company!

· To reduce the risk of Hostile Takeover!

· To report higher Earnings per Share!

d) What are the various benchmarks or standards against which ratios shall be compared to be meaningful?

The various benchmarks or standards against which ratios shall be compared to be meaningful are:

· Previous Year's Ratios

· Competitor's or Industry Average Ratios

· Budgeted, and or Forecasted Figures

Multiple choice questions

1. Given the following information, the Cost of Food Sold is:

Beginning Inventory

$ 4,000

Ending Inventory


$ 3,000

Purchases



$ 9,000

Hotel Employee Meals

$    200

a. $ 10,000

b. $ 9,800

c. $ 8,000

d. $ 13,000

2. Shown below is a partial depreciation schedule for a vehicle with an original cost of $20,000.

	End of Year
	Depreciation

	1
	$ 3,000

	2
	$ 6,000

	3
	$ 4,000


The accumulated depreciation as of the end of year 2 is:

a. $ 6,000

b. $ 14,000

c. $ 9,000

d. $ 11,000

3. Following is information about a tangible asset:

Cost


$ 5,200

Salvage Value

$    800

Useful Life

4 Years

Using straight-line depreciation, the depreciation expense in year 2 is:

a. $ 2,600

b. $ 1,600

c. $ 2,200 gain

d. None of the above

4. Restaurant equipment is sold for $ 5,000. Its original cost was $ 20,000 and its accumulated depreciation to the date of sale is $ 14,000. The result of this sale is:

a. $ 5,000 gain

b. $ 15,000 loss

c. $ 9,000 loss

d. $ 1,000 loss

5. Use the FIFO method to value (at cost) the ending inventory.

01/03/99 Purchased 3 units at $ 2.00 per unit

02/03/99 Purchased 2 units at $ 2.02 per unit

06/03/99 Issued 3 units

The ending inventory is valued at:


a. $ 4.00

b. $ 4.04

c. $ 4.02

d. $ 4.03

6. The purpose of the statement of retained earnings is to show:

a. The lifetime earnings retained by the corporation.

b. The lifetime cash flow.

c. The lifetime sales.

d. All of the above.

7. Using the following income statement, what is the cost of sales percentage?

Sales



$ 300,000

Allowances


$   10,000

Cost of Sales


$   90,000

Other Expenses

$ 170,000

a. 30 %

b. 0.30 %

c. 31.03 %

d. 0.31 %

e. It is impossible to determine from the given information.

8. Following is a portion of an income statement:

	Year
	20X1
	20X2

	Sales
	$ 190,000
	$ 180,000


In a comparative analysis, the percentage change from 20X1 to 20X2 is:

a. A 105 % decrease

b. A 94.7 % decrease

c. A 5.6 % decrease

d. A 5.3 % decrease

e. None of the above

9. Use the weighed average method to value the cost of goods consumed for the month of December.

01/12/02 Purchased 10 units at $ 1.00 per unit

02/12/02 Purchased 5 units at $ 1.03 per unit

03/12/02 Purchased 5 units at $ 1.05 per unit

06 /12/02 Issued 14 units from the storeroom

a. $ 14.32

b. $ 14.30

c. $ 14.28

d. $ 14. 82

e. None of the above

10. A new lease is negotiated for a restaurant building. The lease requires an $ 8,000 deposit to cover possible damages. This expenditure is recorded as:

a. Prepaid rent

b. Prepaid repairs

c. Pre-opening expense

d. Security deposit 

BONUS QUESTION
Fill in the following Table concerning Short Type Investments in Turkey:

	Investment
	Earning Type
	Return

Fixed (F) or Variable (V)
	Risk

	Term Deposit
	Interest
	F
	---------

	Overnight
	Interest
	F
	Non-Cash Risk

	Treasury Bonds
	Interest
	F
	​​​​​​​​----------

	Gold
	Price Changes
	V
	Uncertainty Risk

	Foreign Currency
	Rate Changes
	V
	Uncertainty Risk

	Investment Funds
	Share Price Changes
	V
	Uncertainty Risk

	Stocks
	Stock Price Change +

Dividend Income + Stock Split
	V
	Uncertainty Risk


GOOD LUCK
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